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Question 1

a) Find & for
dx

3x+5

O y=e

G y=xe

2
b) Evaluate J.o e”dx  correct to 1 decimal place

—x

e
c) Find the gradient of the tangent to fx)= X

at x=1

d T2
d) . Find Zx‘ef and hence find the exact value of '[0 xe* dx

Marks

=

Question 2 Marks

a) Find @ for
dx

®H y=rlogx 2
(i) y=10g@/3x—5 3

b) Evaluate J'e —G—dx as an exact value 3
e x

1)

? NOT DRAWN TO SCALE 4

1
The section of the curve f(x)=¢ 2 between x =2 andx = 5 shown

above is rotated about the x-axis. Find the volume enclosed.

d) Find the equation of the tangent to the curve y =4+ 3log, x

at the point where x=1 3




Question 3

a) What is the exact value of sinzTﬂ:

b) Find the area shaded in the diagram below if =2

c) (i) Sketch the curve y=2sin2x for 0<x<27

showing a clear scale on both axes.
(i) By graphing the line y = 1 on your diagram, show that the equation
2sin2x=1
has four solutions for 0<x<2x

d) Differentiate:

__ 2tanx

m Yy=¢€
@ y=sin’xcosx
@) y =log,(cosx)

End of Paper
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MATHEMATICS — AsseSsManT TASK 3

2007
SOLUJTIONS
Qu Solutions ' Marks Comments+Criteria
1 +5
A ) J=e 5
y, . 46 ef (<
_ 30cr& [ | or correct amswer
@ y= xe
usx  y=¢ U | for corree vse of
w=t vise prodect le
‘e yuruv
y z e +xé ,
- o™ (1+ ) | | #r correct answer
2 2
B A e “dx - 2.1. A 2 % 5 | o m-w/r'//'/y /’ﬂ#c’/m/
2
= ?LL [ez’c]o é b correct )nlefnméon
- 4 [6“- e°] S Vb substibydion
.et g
2 2
=268 (b 1dp) 5 |for answec o 1 d.p.
9 fe)- & - @
' -2 x i o yse of
- x) “x et 1+x cornell V.
/ (’C) (xe > < ) chain or 91/0//:9;4/ rvk
= —e™(1+x)
’_“xanx
= ':__(_L_;l_ for correct 5/'m/a/i4m40n
=
. whtnxsl, My ”6—-2..
o . i

Comments+Criteria

Solutions

Marks

Z k4

%}C e’ - Zxe*

Loy difleentiotion

b app te vse of

e 105 <3x-5")"i
((/ = :ZL IOj (3x~i>w

’ - L v 3
J T Z2¥E=D
= 3
6x~10

% /
e = 2/:(exdx d@//t/aéw 761671”("@/'“‘
x? P
_ x
7 = [xeTdx
! xz x? 1 -
[ xe"dx - [g,_z_]o J éym/e/mém
- —e—-l _ .edo
2 2
for solvbion atla-
=3 (e - ) ! substiyfion
A
(i) Y= :cz/ojex
WU=sx? = for correct vse of
u's2x ;f'c ;x predvet role
‘= v ruv’
y = 2xlnx + DC’x.’-’E
= Zaclnx + X Lo correct amser
= x(2lnx +1)
(i) A leg V2x-5

T

br yse of /?j’ law
_ for correct answen
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\w .vlan|n¢n = ﬁ\m u.\mawn 3 4 M.,BNW. = Sin(w-~ZE
T - = m~c\~ Hm!
e . 3
- ! for inte odion
DN.\:N.NN \ - m i .\.G\ @&R._N §\§N
= ¢ A?mw (?mv 2
= ¢ (2ine &?mv ! for subshtvicen 8 Area~- 3 mh~© - r*8 [ ’ o
- 6 (2-) - 4 (102 - 5%2)
2
il
- ¢ || G correct anome | - 4 (z00- \N@ 30 |4 s hedon
!
Q . ﬂnw.nvn = 5>x72
%n -4x\® -5 : T = W%Q‘:N { £ mol&h\%
2y @) - e | . =
s o 2
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2 v g iy
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